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Instructions for the candidates :

1. Candidate must enter his / her
Question Booklet Serial No.
{10 Digits) in the OMR Answer
Sheet.

2. Candidates are required to give their
answers in their own words as far
as practicable.

3. Figures in the right hand margin
indicate full marks.

4. 15 minutes of extra time have been
allotted for the candidates to read
the questions carefully.

5. This question booklet is divided into
two sections — Section-A and
Section-B.
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WU¥ - 9 / SECTION - A
. ]S v / Objective Type Questions
mm 18 70 w%m*wwﬁmﬁvwfﬁmﬁ#wmﬂhﬁﬁﬁ

35 x 1 =35
O‘:Jesnon‘ Nos. 1 to 70 have Jour options, out of which only one is correct. Answer any
79 questions. You have to mark your selected option on the OMR-Sheet. 35x1=35
1. ST HTET 39T ¢
Sakliliy foa
) faay 100 B) —— 100
' HIRH
. | o
(© forsrY (D) T & HIE
P/V Ratio is
I Contribution Sales
AR Sales x100 (B) Contribution 100
(C) ‘ontribution (D) None of these
Sales
WRerT Fraer iy gRT wnf fear mar
(A)  3TTE.U%. 9., B fuveew =
(C) WZ 9% 3 fear (D)  FART S
Indian Investment Fund established
(A) IFCI {BY” Grindlays Bank
(C) State Bank of India (D) Canara Bank
3. UAE % %Y H HETier gl 9 1 YHE 99 2
a)  FH B e
© (AT (B) TH (D) T ¥ HIE A
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What will be the effect of purchase of plant on working capital ?

(A)  Decrease (B)  Increase
(C)  Both (A) and (B) (D)  None of these
4. AT FAE R

(A) WY T IRR R S B) e S A o S
(©) S A S (D) T T Y& Y FIH

Liquidity ratio is

(A)  Stock and Debtors Turnover Ratio

(B)  Current Ratio and Operating Ratio
ACy”  Current Ratio and Liquid Ratio

(D)  Gross Profit and Net Profit Ratio

3o g & gfg ¥

wu

(A) W& Hq (B) W T @
(C) (AT (B) 3H D) T X P T
Increase in share premium is
(A) Sources of fund ABY~ Application of fund
(C) 'Both (A) and (B) (D)  None of these

6. Fma T q ®9 FREAN U T & 2
(A)  HR@HT & B) WIZ W FH
(C) FAG g (D) qagf‘r

_ Which of the following is not factory overhead ?

(A) Factory Insurance (B) Depreciation on plant

(C)  Office Salary (D) Wages
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7. mmmmﬁawﬁmﬁﬂmmwmw ;

(A)  gfa (B) Hm
(C)  wais Arhe D) faehae e
Pri i

rimary marketing of product should be determined by which of the following ?
(A)  Supply (B) Demand |
(C)  Primary market (D)  Secondary market

. W fefafusmor afig fn o ¢

(C) =R T & D) U adet @
Generally diversification is classified in
(A) Two ways (B) Three ways
_{&Y” Four ways (D)  Five ways
9.  @HIH® ITReHae @ e it frar & 2
(A)  TH. IR S (B) =R
(C) SIS R, (D) 3 ¥ @ig &
Who has defined social responsibilify ?
A H. R. Boben (B) Marshall
(C) George R. Terry (D) None of them
10. Ui SfaagA |RIe ¢
(A) @A E (B) AR H
) Tawdsor & O T I

Project Report is a summary of
(A) Facts (B) Information

(C)  Analysis ADT~ All of these
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11. 6l 39 3 fora =) oot syavasar ¥

(a)  wifas danm (B)  ATGH GamyT Fl
(C) W way (D) F[H 9 B I
The foremost need in the development of a country is of
(A)  Physical Resources - (B)  Economic Resources
A€T  Efficient Management (D)  None of these
12.  INIR Yo & awEs ¢
(A)  Imgfa (B) Hm
©  vhwwEt @ v D) T
Which of the following is/are necessary for market assessment ?
(A) Supply (B) Demand
(C)  Nature of competition , (D) Al of these
13.  FreE R
(A) HAEG¥gH (B) HAGqS
(C) UHT & w=id) (D) &9 & F|wEl
Planning is
A&~ Necessary (B) Unnecessary
(C) Wastage of time (D) Wastage of money
14. et it 92 At F wnfirer st @
(A) T &Har B) fagom Hifq
© wH H G (D) ¥ ¥
Venture capital in new firms contains
(A)  Required capacity (B)  Marketing policy
(C) Organisation of firm (D)  All of these
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15.

16.

17.

18.

Fel oft F e @

(A)  I= HAfEg B) Wrfew wifay
(C)  =E iy == D) T 9+ =H
Venturc Capital contains _
1A~ High Risk (B)  Venture Risk
(C) No Risk (D)  None of these
=9 TRIT wery F wnfret e By ¥
(A) U HIe (B) HET FRESR! tfenit
(C) 3T (D) T ¥ i
Top level management does not include
(A) Board of Directors (B)  Chief Executive Officer
(C)  Auditor (D) None of them
AYE IARA A FT & F w1 =g wfter € 2
(A)  urafE : B) fedgs
(C) TdE® (D) THE R
Which of the following steps are included in indirect production ?
(A) Primary (B) Secondary
(C)  Tertiary ' (D)  All of these
3R W@l § gt €
A) T @ Hm (B) HEHH ®IRE!
(C) SR Friewr D) (B) 3R ()3

Production Design includes

(A) Demand of goods (B)  Scheduling programme

(C)  Product inspection (D) both (B) and (C) —
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19. afem
(A)  Hfvemd (B) 3NV
€ URew (D) YA 3 FarRd
Labelling is
(A)  Compulsory —B)  Necessary
(C) Voluntary (D)  Wastage of money
20.  Hud ahmE siwi w e fear o @
A)  wiTee 9 (B) EvES Iy o
(C) & 9 Y & a7 71 (D) T q HE T
Dividend on cumulative preference shares is given
(A) in the year of loss
(B) in the year of profit
AS)™ cvery ycar whether there is profit or loss
(D) none of these
21. O AN I ASAH ITEIT 8
a) T WIS | (B) WFTR @FT
() | & (D) SWR W
The best example of variable cost is
(A)  Interest on capital AB]  Material Cost
(C)  Wealth Tax (D) Gift Tax
22, faareH =€l #
(A)  AAEER (B) YH I F=ig)
(C) [HG & et (O) ¥ |
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Planning is not

{A) Unnecessary (B) Wastage of Money
(C) Wastage of time (D) All of thege

23. YR uwe ¥

(A IR A (B)  IUEH

()  whwaradt = (D) & &
Modernisation improves
(A) Products (B) Production
(C)  Processes 487" Capacity

24. 0§ FH-91 Saw Y TG E 2
(A)  wEAH A (B) UREdH W R
(C) 8 ey ToT D) T ¥ P
Which of the followiné is an element of sensing the opportunities ?
(A) | Ability to perceive ' (B) Insight into change
(C)  Innovative qualify . (D)  None of these

25. 9§ ga9H goo fafy g @ _
@A) TIHFTFEATEIE (B) TN % T T A
(C) TR % FaHHA oA | .l_(DJ T ¥ W

Net Present value method is related to

(A) Time value of money (B) Inflated value of mone€y

_{Cr~  Present value of money (D)  None of these

06, T 37t ufwar § et @ §

(A} dareA - B) FAMNE
© - T o waw
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Learning process involves

(A) Drive (B) Cue
(C) Repayment ) _{DY" Al of these
27.  fardl) ot &9 & Ry o ammervass 6 ¥ |
(A)  shfas damm B)  3fae daA
(C) T way D) T A &

Which is not nceded in the development of a country ?

(A)  Physical Resourcces . (B) Economic Resources

(C)  Efficicnt Management (D)  None of these
28. WEY &

(A) el B) fas=

€) wen 3R fagm D) T q Fg Tl

Managcment is

(A) Art (B) Science

_1er~ both Art and Science (D)  None of these

29, fAsA @R

(A) YAH & ferg B) ufaw & fow

() IaHH & foe D) WA TR

Planning is for
(A) Past ABY”  Future

(C) Present (D) All of these

30,  GREeEr GgaE § Evas g €

(A) AT B) HREss & I9Fm

(C) 3w ud AikTsw Al (D) ¥ H AT
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In projcct identification .............. is nceded,
(A) Expcrience (B) Use of mind

,_42]/ Experience and mind both (D) None of these
31. YRGS Ao &

() T favetor B)  fovww faveim
(€ SR farersor D) T F
Projcct appraisal is an/a
(A)  Export Analysis (B)  Expert Analysis
el Profitability Analysis (D)  None of these
32. et Goi W T €
(A) SRR B) S Nufgwy
(C) g fewhl D) T @ W
The source of working capital is
(A) Debtors . (B) Bank overdraft
(C) Cash sales (D) All of these
33, frAtatEd § wF TR-AR I € 2
(A) FHUF B0 (B) S ﬂﬁ]ﬁiﬁ
©) e e (D) PERT =
Which of the following is non-current liability ?
(A)  Mortgage Loan (B)  Bank Overdraft
(C) Outstanding Salaries (D) Prepaid Expenses
34 EFY HED S €
() aXErdl SO | (B) IRl S A
[aY ' \ ﬁ
©) T S A o) Forfer Refr S
[
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35.

36.

37.

Stock Turnover Ratio comes under
Profitability Ratio

(A)  Liquidity Ratio (B)
(C)  Activity Ratio () ~ Financial Position Ratio
o 4 @ -6 an-fadz faversw @ dhm @ 6 ?
(A) e R () T farT
(C)  §-3R it # Iugeen p) fosea ea | aiEa
Which of the following is not a limitation of Break-cven analysis ?
(A)  Technical stability
(B)  Cost segregation
(C)  Suitability of Multi-product Firm
(D) Change in selling price
=Ry % fo faqor &
(A)  HEE (B) HEwESh
(C) HATGRgSh (D) feretaen
For business, marketing is
/[&]/' Compulsory ‘ (B) Necessary
(C) Unnecessary (D) Luxury
3y fm o= & ?
(A)  TA-FE faa (B) 3¥eq-3raty fow @
(c) <rhiierh foe D) T A FE TF
Issuc of shares is a source of
(A) Medium-term finance (B)  Short-term finance
(C)  Long-term finance (D)  None of these
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38. Wﬁﬁﬁw%ngaqﬁqm%

wiskar Fdteroy

4 9wt

Process inspection

All of these

IR g &

T 4 W8 T/

Production increases

None of these _

EISRTISIE

(A) 3R Fdeqor (B)
(C)  Htaror faveryor (D)
The important aspects of product inspection are
(A} Production inspection (B)
(C) Inspection analysis (D)
39. WE A Wi TR @ W § o
(A) SERAETEWMY (B)
(C) IURT R ward (D)
Fixed cost per unit increases when
dAY”  Production decrcases (B)
(C) Production remains constant (D)
40. USUT § R @
(A) IR fowr (B)
(C) IR Te @ ferar (D)

Intcgration means
(A) Expanding inicrnally

((B/ Expanding externally
(C) Expanding internally and externally

(D)  None of these

41. iR daR i ST @
(A) Yerdehl g1 (B)

(C) JE g7 (D)

T ¥ WIS @

T | 99 & N
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Project is prepared
(A) by promoters

(C) by Entreprencur

(B) by Managers
,{*DT/ by all of them

a2, awel-anfre favelsw § gram fear s @

(A) e e

©)  frute gy

(B)  HIT W
(D) G ATl

Techno-cconomic analysis deals with identification of the

(A) Supply potential
(C) Export potential

43.  F=9 Fifa F fuke §
(A) Y I O

(C) F & Ay

_{Br Decmand potential
(D) Import potential

(B) Y &l gierdl
(D) TH 9 ot

The determinant(s) of bonus policy is/are

(A}  Amount of Profits
(C)  Age of Company

(B) Liquidity of Funds
(D) All of these

44. YR et (G ue smurs@ e wernfe fear mar

(A) 1975 %

(C) 1988 H

Technological Development and
established in

(A) 1975

(C) 1988

(B) 1986 W
(D) 1990 1

Infrastructure Corporation of India

(B) 1986
(D) 1990

45. TRl o 9 & foora A =9 afus snevaear ¢

(A)  HiidA® damyA

(C)  FRE TG H

(B)  3nferek g 7y
(D) ¥ F FI§ T
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The foremost need of development in a country is of

(A) - Physical Resources (B)  Economic Resources
A4Sy~ Efficient Management (D)  None of these

46. ﬁwﬁﬁ%@,mm@mwwaﬂﬁmmmm%?

(A)  SERH T @) s
(C) Y Y W D) T ¥ T
Which of the following is to be considered while selecting a product or service 2
(A)  Cost of Production (B) Competition
(C)  Profit Possibility (D) Al of these
47. SRR YN Y ST S &
(Aa) S e | B) o IS
(C) drdioe gefr (D) 38 | FIE T
Working capital is known as
(A) Seed capital : (B) " Circulating capital
(C) Real capital _ (D) None of these
48. Heq A TE 87 & .
a4  FE - (B)  TeT
) Shm (D) ~ANR A
The most extensive scope is of ’
(A) Brand ' ~(B) Labelling
_LG}/ Packaging (D)  Trade Mark
o, TR A % wROT W wEh H g ¥
A FEFEE (B) I
C) W F AT D) T A

S
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Increase in Fixed Assets due to cash purchase is

(A)  Sources of Fund (B) Application of Fund
: (C)  Inflow of Fund (D) None of these

50. U 9%el Il § sravd @ e arfew
(A) - HFe = B) = F1
(C)  TaueH a1 oy - (D) ¥H | g
A successful entrepreneur must possess the quality of
{A)  Leadership (B) Control
(C)  Innovation (D)  All of these

51. Favr faversm gafim
(a)  ffemor strervashat (B) QI ITEvEEHan
(C) &Y HEWaHhad : (D) WA FEvaEHA
Investment analysis deals with
(A)  Funding Requirements _{By” Material Requirements
(C) Labour Requirements (D) Resource Requirements

52. 7 FUYT g1 &

&) ot gk (B)  ilTh R

(© 3 O) T ¥ FE
Naked dcbentures are |
(A) Fully secured , (B)  Partly secured
+e7” Unsecured (D)  None of these
53, Tty T |
(A) four g afy | | (B) 3IqWEH @iy |
©) Ty arafy @ (D) ST arafy @
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Gestation period is concerned with
(A) Idea creation period (B)  Incubation period

AGH" Implementation period (D)  Commercialisation period

54.  Ieaw@da wwy 1§ yifive v R

(A) @O Hee (B) T FHERY s
(€) fauom ywws D) () 3R (B) A

Top Level Management includes

(A)  Board of Directors (B)  Chief Executive Officer
(C}  Marketing Manager (D) both (A) and (B)

55. fauur =g ww

(A) 3G W (B) =gawifaal a1
(C)  SUHRHEIS W D) THIAWNW
Marketing expenditure is a burden
(A)  On Industry “(B) On businessmen
/(-e‘l/ On consumers (D} On all of these
56. U@ GG §
(a)  Tiafafuzi &1 @ (B) UHH Tatamy
) awiwg nfafatudl ®1 W (D) T q g T
A project i8
AT~ Cluster of activities (B)  Single activity
(C) Group of countless activities (D) None of these
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57.

59.

UG ol &
(A)  d H FH B
(B) W A &m @ H
(C) @I FW FA vd g@l A wm S A B
D) T QA FR T
Management is an art of
(A) Doing work onescif
(B)  Taking work from others
~{€T~ Both for doing work oneself and taking work from others
(D) None of these
TS SRR gEfud 8l glar &
(A) ST & SG3T F IeureH B) 3o sgeeR @1 uikasH
(C) IR ameEar # g (D) O 3 ufskar
Social behaviour is not concerned with
(A) Production of goods for public
(B) Avoidance of uncthical behaviour
(C) Fulfilment of social obligations
M Profit ecarning process
ICAPTA ATHIA foha T8 I ey 1 Mie e ¢ 2
(A) 12 Ale (B) 24 HE
(C) 18HE (D) 36TE
Short-term forecast involves a period of how many months ?
A1 12 months (B} 24 months

(C) 18 months (D) 36 months
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60. 3V ¥

A R wmm | wmyeif B) i drm . fop e
€ R &ma - wify (D) A B e
Contribution is
(A) F‘fxcd ¢ost + Profit/Loss (B)  Variable cost + Fixed cost
(€)  Fixed cost - Loss (D)  None of these

61. ﬁwﬁﬁaﬂqwﬁmvﬂuqmsﬁaaﬂwﬂaﬂmﬁrmmﬁmm% ?
(A) 3t e w1 @) (B)  anfaes e
(C) =R #! g (D) ¥ @ ul

Which of the following is an economic factor affecting environmental scanning ?
(A) Stage of economic development (B) Economic policies
(C) Market situation (D)  All of these

52.  3USH T YA FId T WM A A4 g @

(A) SR @) fomom
(©) ot @I IueTRgEr D) T/ HE @
The point which is to be considered while selecting an enterprise is
(A) Product - (B) Marketing -

_/[,GT/ Availability of capital (D) None of these

63, Fre @ B-d gawd ¥ e HE T ¢ 2

A)  SiREd we | B) v Faee we =
(C) T4 Aifa (D) HW &l wgfd

Which of the following is not a problem related to business ?

M Risk management
(B) Profit planning and expense control
(C) Price policy
(D)  Trend of demand

(218 ]J [(3)-9016-Juor
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65

66.

67.

1218 | J [(8)-9016-Juo |

)  Yafom

The moat extenaive acope is not of
(A) Brand

(C) Packaging
safwna fawg @

(A) s vl
©) T e

Personal selling is
(A) Verbal Presentation
(C) Visual Presentation

IR Y W17 F e §
(A) O+ ufasggmon
© 9

Market Demand is known as

_{A~ Demand forecasting

(C)  Supply
IS &

(A) Y& &M
(C) 94 &N

Dividend is
(A)  Net Profit
(C)  Reserve Fund

(B)

(D)

(B)
(D)

(B)

(D)

(B)
(D)

(B)

(D)

(B)
(D)

(B)

(D)

4BY”

(D)

-

Saferm
e @ w18

Labelling
None of thesc

fefaa srefe
et @ i

Written Presentatior

None of these

ATATIF TR
T | F1¢ &

Real Demand

None of these

oY F1 A
Aferafee wmy &1 afyy

Appropriation of pro

Part of undistributec
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68. P 3 forepy g ﬁqﬁ%?

(A) - -

" T T @l (B) e SHeER it sty
) W Sy 5 gfa (D) ™ &9 uiwg

Which of the following is ;

Avoidance of unethical behar
Profit Earning Process

(€ Fulfilment of social obligations (D)

69. Wﬂ'ﬁwﬁm%

(A) 2. B 1:2
(C) 3:2 D) 4 1
Ideal Current Ratio is
AT 2 (B) ' 1:9
@32 D) 4:1
70. TRl st #Y vty e e S @ & o
(a)  fer : B) afEr
(C) - It | (D) 7 (A) 3R T ()
What is the nature of working capital ?
(A) Stable ' (B)  Unstable
(C} - Floaling | (D)  Neither (A) nor (B)

| @YY - & / SECTION - B
g I WE / Short Answer Type Questions
wvT dear 1d 20 7% @ IWH &1 3 J B 10 9wt F g 1 wRw @

2 3 FraRa &1 E“‘; x2
: tions. Each que
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions - flf?

carries 2 marks.

1. oo & &F &1 qu

Explain thc scopc of marketing.

qfcatomT whdeT % Hi 31 ILed FaRC |

State any two objects of project report. , -
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3. vy e ® gig wwar 1 ¥R 2
Management enhances the efficiency. How ?
4.  fowg dad= =) afigmr &)
Define sales promotion.
5. I Ot & Hal B wane)
State sources of Venture Capital.
6. FaeT &% mgea wamen |
Statc thc importance of planning.
7. i @EfEuwnd 2
What is ploughing back of profit ?
8.  TwRfa s g 2 "
What is strategy ?
9. R fuRwTEmE 2
What is market assessment ?
10. ST Qo St SNevahal ey Ryd & e adt & 2
For which object is sced capital nceded ?
11. e T s g ? |
What is quality control ?
12, | QI Sifaed it afeamn i)
Definc Social Responsibility.
13.  UGTRV F41 § ?
What is Environment ?
14. YR Q&g 1€ ?

What are the infrastructure services ?
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1 TN Ry gy

Give
. tlwo d:_i{:ﬂ;s q::;a:agemt;:. 2
State any two factors to be B o 2
. E}q o anTUT # conmdefmd In promotion of business enterprise
T 1 e ¥ ) 2
1W.."l'ua\l do you mean by Fund Flow Statement ?
18.  ¥ERH WY )
What is contribution ? |
19, Fwier Ot & Raforr s e g2 2
What are the various types of working capital ?
20. dR]A[MEFREE ? | i

What is Current Ratio ?

ﬁé I W / Long Answer Type Questions
WY H@r 21 € 26 it Iwdg ¥ o ¥ R 3wl & I %) uew & fo
5 3% Fuifa ) 3x5=15

Question Nos. 21 {o 26 are Long Answer Type. Answer any 3 questions. Each question
‘carries 5 marks. 3x5=15

0]1. 3991 UF WU H <R W HIACI 5

Distinguish between share and debenture.

o VEY F U 1 G0 i s
Describe nature of management.
23 W@mm%?ﬁuvﬂma;ﬁﬁﬁmm’rmaﬁqﬁl 3

What is meant by marketing ? Explain any four functions of marketing
a 1

managcr.

J———
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24, Wwwwx%?uﬁwﬁqﬁﬁﬁmmmﬁ?
What is Fund Flow ? Why and how is it prepared ?

25, ufRlean ypar 1 @l & Sa #) e i |
Explain the usc of SWOT in project identification.

26.  wreler §o ) iR ) A el @1 AU BT

Describe the factors affecting the working capital.
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